



JAMIAH MANARUL HUDHA ARABIC COLLEGE

PROJECT PROPOSAL OF

Roof Construction Project

"PROTECTING OUR STUDENTS, PRESERVING SACRED KNOWLEDGE"



DIVURUMPOLA, ETHUNGAHAKOTUWA

TEL – 032-2241474, MOB – 076-2990444, 076-8001981



To:

Subject: Request for Sadaqah Jariyah – Urgent Renovation of College Facilities

Dear Sir

Assalamu Alaikum wa Rahmatullahi wa Barakatuh.

May Allah grant us all the blessings and full rewards of the holy month of Ramadan. Ameen.

During this sacred month of Ramadan, as we engage in acts of worship such as fasting, recitation of the Holy Qur'an, supplication, maintaining family ties, guarding our speech, night prayers, charity, and I'tikaf, we humbly invite you to also become a partner in fulfilling an important need of our college.

Our college was established in the village of Divurumpola with a small building and, Alhamdulillah, has now served the community for over 45 years. Throughout this period, it has produced more than 850 graduates and continues its noble educational journey. However, several of our buildings are now in urgent need of roof renovation and repair.

Considering this pressing requirement, we earnestly request your generous support in the form of Sadaqah Jariyah during this blessed month. Your contribution will not merely assist in renovating a building; rather, it will be a noble effort in shaping the future of many generations and in nurturing students who carry the knowledge of the Qur'an and Hadith.

The growth and success of our college have been made possible through the invaluable contributions of our alumni, local residents, generous donors like yourself, and even the humble contributions of ordinary community members. We gratefully acknowledge that your dedication forms the strong pillars of our institution.

To complete the necessary renovation work, we require approximately **Rs. 1,235,000**. We kindly request you to contribute any amount you are able to give as Sadaqah. Thank you for your time, your kindness, and your commitment to education and development.

Sincerely,
Principal

Moulavi M. H. Ahamed Halaldeen (Misbahi)
Divurumpola - Ethungahakotuwa,
Sri Lanka.

.....
JMHA COLLEGE

Emergency Rooftop Construction & Building Protection Project

"PROTECTING OUR STUDENTS, PRESERVING SACRED KNOWLEDGE"

1. Executive Summary

Jamiah Manarul Hudha Arabic College has been serving the community for over 45 years, producing more than 850 graduates who have contributed to religious and social development.

Currently, one of our main academic buildings is facing serious structural damage due to a damaged roof. During rainfall:

- * Water floods into classrooms
- * Walls and ceilings get soaked
- * Floors become unsafe
- * Students cannot sit or continue lessons
- * Books and educational materials are damaged

This situation disrupts learning and puts students at risk.

We are seeking generous donors to support the urgent construction of a new protective rooftop to ensure a safe and stable learning environment.

2. Background of the Institution

Jamiah Manarul Hudha Arabic College was established in Divurumpola village over four decades ago with a small building. By the grace of Allah, today it has:

- * Over 850 alumni
- * Active religious and academic programs
- * Students pursuing Hafiz & Aalim studies
- * Integrated academic support programs

The college has always relied on community support for its development.

3. Problem Statement

The existing roof structure has deteriorated due to:

- * Long-term exposure to weather
- * Aging materials
- * Structural weakness

Current Issues:

- * Heavy water leakage during rain
- * Damage to classrooms and ceilings
- * Unsafe learning conditions
- * Frequent class interruptions
- * Risk of electrical hazards

If not repaired immediately, the damage will worsen and may lead to major structural failure.

4. Project Objectives

The main objectives of this project are:

1. Construct a strong, durable rooftop.
2. Prevent rainwater leakage permanently.
3. Protect classrooms, furniture, and materials.
4. Ensure uninterrupted education.
5. Provide a safe and healthy environment for students.

5. Scope of Work

The project includes:

- * Removal of damaged roofing materials
- * Structural reinforcement (if necessary)
- * Installation of new high-quality roofing sheets
- * Waterproofing system
- * Drainage improvements
- * Ceiling repair (if required)

6. Estimated Project Cost

Total Required Budget: Rs. 1,235,000

Donation Plan Structure:

No	Amount	Person	Total
01	20,000	<i>25 persons</i>	500,000
02	15,000	<i>25 persons</i>	375,000
03	10,000	<i>20 persons</i>	200,000
04	5,000	<i>20 persons</i>	100,000
05	2,000	<i>20 persons</i>	40,000
06	1,000	<i>20 persons</i>	20,000
Total			1,235,000

Every contribution—large or small—will bring us closer to completing this essential project.

7. Impact of Your Contribution

Your donation will:

- * Protect hundreds of current and future students
- * Preserve religious and academic education
- * Prevent further structural damage
- * Act as a long-term Sadaqah Jariyah (continuous charity)

This is not just a roof — it is protection for generations of learners.

8. Implementation Timeline

Upon receiving sufficient funds:

- * Week 1: Material procurement
- * Week 2–3: Roof removal and structural preparation
- * Week 4–5: Installation and waterproofing
- * Final Week: Inspection and completion

Estimated completion time: **4–6 weeks**

QUOTATION

Supplier:

BRICO METALS & HARDWARE

Importers & General Hardware Merchants / High Quality Roofing Manufacturers

Mobile: 077-9762030 / 077-9769090

Fax: 031-225510

No.	Description	Quantity	Unit Price	Amount
1	3" x 3" (2mm)	6	7,250	Rs. 43,500
2	4" x 2" (1.6mm)	12	5,890	Rs. 70,200
3	3" x 1½" (1.4mm)	55	3,850	Rs. 211,750
0.47mm Green Roofing				
4	15' x 96 x 360	-	-	Rs. 518,400
5	Rinche Cap 130 x 210	210	130	Rs. 27,300
6	Self-Drilling Screw 2"	15	600	Rs. 9000
7	Welding Rod (1 x 1800)	1	1800	Rs. 1800
8	Cutting Wheel (8 x 4)	15	80	Rs. 1200
9	3mm MS Plate	13	750	Rs. 9750
10	1½" x 1½" 5.2mm	4	250	Rs. 1000
TOTAL				Rs. 893,900

GAYAS ALI COLOR WORLD

No. 206, Negombo Road, Ihala Kottaramulla

Specialist in Auto Color Mixing

Computerized Color Mixing of Decorative Paints

Contact: 031 22 66 980 / 077 44 55 980

Date: 25/02/2026

Qty	Description	Amount (LKR)
15 L	Thinner	Rs. 6750
12 L	QD Primer	Rs. 20,250
50 Pcs	Anchor Bolt	Rs. 3750
TOTAL		Rs. 30,750

Roof Renovation Cost Estimate

Description	Value
Contractor Charges	Rs. 288,000
Half Load Sand	Rs. 8000
Cement 8 Bags	Rs. 14,400
Total	Rs. 310,400

9. Banking Details for Donations

Account Name: Jamiah Manarul Hudha Arabic College

Account Number: 5359971

Bank: BOC Bank

Branch: Dummalasooriya

For further information:

076-2990444

076-8001981

10. Closing Appeal

We humbly request your generous support in completing this urgent and essential project.

The success of this effort will ensure that our students can learn safely, even during heavy rains. Your support will be remembered as a contribution toward preserving sacred knowledge and community development.

May Allah reward your generosity abundantly in this world and the hereafter.

